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PAPER-II
ANTHROPOLOGY
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[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.

This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example:  CAD ® >

where (C) is the correct response.

(i)

(iif)

Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I Booklet only. If you mark at
any place other than in the ovals in the Answer Sheet, it will
not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the test
booklet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself
liable to disqualification.

You have to return the test question booklet and OMR Answer
sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall.

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table etc., is prohibited.
12. There is no negative marks for incorrect answers.

10.
11.

12.
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ANTHROPOLOGY
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

Inbreeding ~ and  consanguinity 7. Who among the following was the
manifest these genes to express their proponent of the term “Ethnic
effect . Group” to  describe  human
(A) Dominant genes populations ?
(B) Sex-linked genes (A) Falconer
(C) Recessive genes (B) Pearson
(D) Sex-limited genes (C) Ashley Montagu
. - . (D) Penrose
Habitual striding bipeds are
(A) Chimpanzees 8. The first discovery of an
(B) Gorillas Australopithecine was made by
(C) Humans (A) L.S.B. Leakey
(D) Gibbons (B) Raymond Dart
(C) Robert Broom
DNA fingerprinting was developed (D) F. Clark Howell
by . .
9.  Who among the following has given
(A) Steele & Berg a detailed explanation of ‘Rite-de-
(B) Watson & Crick Passage’ ?
(©) Critfith (A) Edmund Leach
(D) Alec Jeffreys (B) Ruth Benedict
Phenylketonuria is due to the EIC)§ R//;ricce}f K/I[laelrl)ss
deficiency of an enzyme
(A) Phenylalanine hydroxylase 10.  Which Article of the Indian
(B) Glyoxalase ' Constitution provides that there shall
(C)  Adenosine Deaminase be a Minister of Tribal Welfare for
(D) Glutamate Pyruvate the States of Bihar, MP and Orissa ?
(A) Article 332
An ‘O’ blood group child cannot (B) Art@cle 46
have parents with (€)  Article 164
(A) A Group (D) Article 275
(B) B Group 11. Functionalism can be best described
(C) O Group as a
(D) AB Group (A) study of cause and effect
. . .. relationship
The: bush babies” who live in many (B) study of inter-relatedness of
African forests are the parts of a whole
(A)  Galagos (C) holistic study conceptualising
(B)  Baboons the whole only
© qukeys (D) study of human changing
(D) Chimpanzees behaviour

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




e faae

RS LE I | |
A : 3T T T I (50) Tg-TThedia U9 & | ek U9 & ] (2) 3 € | @t weT o ST SIS |

1. SiAUsFH Td FREdr e ST @l — 7. MG STETRI & GUH % A0 “udih a9
36 U I ANTTHT P b W — U% % VAN HI UG A e
IR Xl & TTATeAEd | 9 i o1 2
(A) T ST (A) IR
(B) o Here ST (B) dEET
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2. 3R DA o STt f5are W i € 2 8. ST il ST T ot il 2
(A) Foich ®) e (A) Q?j.@.aﬁ. wrent
©) W= (D) e (B) e s

(C) TRH

3.  S.uA.u. TR @ faema feem fomar 2 (D) . A FIIT
(A) TS 9. FATREd § 9 b “Uge-SF-UdsT” i
(B) aIzH Uug fsheh FereIel AT T i & 2
(C) Tuftp (A) TSHUE &

(D) UfeT Sith (B) ®IsHieH
4 R F FA & (©) i
. TSR Uk TITeH
T (D)
(A) TS TATTE BTegiioers 10. ¥Rd & Hfau™ % 9 FT=3 H T|@
(B)  TolESATRTEAST T & b forer, He wer o Ser o
(C) TUSANTE feumms ToTT eh STl shedToT F3it 81T 2
(D) ToRTE MEEAT (A) =T 332
(B) =T 46

5. 0" R A At % AL (€) =7 164
TR = I T AR & T ? (D) =7 275
(A) A’ BRI 11. F=fAfEd O 9 i |1 9 JhaicaaTs
(B) ‘B’ R T ettt o T & 2
(©) ‘O et (A) FHI-FROT TEY F AT |
(D) “AB’ T (B) Uk FHf % Wil Y SfeR-geieraT

T T |

6. 3THIHT & 3FF I H WA d T9- (C) TF wHREE W Gewew
ey FEffad § & 2 ez st |
(A) T (B) é?{—r (D) T % UREfad eid FeER H
(€) R (D)  feriisit A |
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12.

13.

14.

15.

16.

17.

The main difference between the
questionnaire and schedule is

(A) Mode of operation

(B) Physical form

(C) Language

(D) Question format

Which one of the following pairs is
not correctly matched ?

(A) The Foundation : S.F. Nadel
of Social
Anthropology

(B) The  Political : Edmund
System of  Leach
Highland Burma

(C) Caste in : Iravati
Modern India  Karve
and other Essays

(D) Patterns of : Ruth
Culture Benedict

When a woman is simultaneously
married to two or more brothers, it is
called

(A) Fraternal Polyandry

(B) Levirate

(C) Group Marriage

(D) Sororate

In Anthropology, the process by
which a child learns its own culture
is known as

(A) Acculturation

(B) Self-learning

(C) Enculturation

(D) Socialization

The Three Age
postulated by

(A) L.S.B. Leakey
(B) Lowier R. Binford
(C) C.J. Thomson

(D) A.L. Kroeber

System  was

The first deliberate human burials
are found in

(A) Aurignacian culture

(B) Solutrean culture

(C) Sohanian culture

(D) Mousterian culture

20.

21.

22.

The Palaeolithic Art in the form of
paintings, engravings and carvings
coexisted for the first time during

(A) Lower Palaeolithic period

(B) Upper Palaeolithic period

(C) Middle Palaeolithic period

(D) All the above periods

The book “The Rise of Civilization

in India and Pakistan” was authored

by

(A) H.D. Sankalia and V.N. Misra

(B) Robert Bruce Foote and Henry
Foote

(C) B.B. Lal and S.P. Gupta

(D) Bridget and Raymond Allchin

The Megaliths found in India were
systematically classified by

(A) V.D. Krishnaswamy

(B) K.D. Bannerjee

(C) H.D. Sankalia

(D) K. Soundararajan

Assertion (A) : Consanguinity
in human population is a result
of random mating.

Reason (R) It promotes the
manifestation of recessive
genes.

On the basis of the above, choose the
correct answer.

(A) Both (A) and (R) are true

(B) (A)is false, (R) is true

(©) (R)istrue, (A)is false

(D) Both (A) and (R) are false

Assertion (A) : Diabetes mellitus is
a simple disease.

Reason (R) : It is caused by an
enzyme deficiency.

On the basis of the above, choose the

correct answer.

(A) Both (A) and (R) are false.

(B) Both (A) and (R) are true.

(©) (R)istrue, (A) is false.

(D) (A)istrue, (R) is false.
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12. Tl o SFIEE % a9 e W 18. ROmIOT I S foRe sty § weed AR
FAE 2 TR, SHUE 9T TERRT % T8
(A) WA (B) %ﬁ‘rﬁaﬁm AT o &Y T AT ST TANT &IeT &7 2
(C) W (D) U¥ 1 3ET (A) 7= U TTSTOTRTe #h STET |
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(C) FEFTEH ¢ wEd S (B) 2 4 e T &I T2
EIERIRUCEE (C) aaft. et qen e o, e
T (D) forse e Yoo siferfe
(D) U FeR : TF
sHfeTe 20. TR I T HEATOn P R e
14. 7 U S 1 e U A1 |1 AT et Wﬁ;ﬁ?m?
ST 3 T AN A o 9 T e § 9 (A) 2L FoTET
(A) TR Srgufemen (B) é?.@?r.ajsﬁ
(B) TR 3MMUHR (|AfoR2) (C) TS Ghiern
(C) W faa® (D) . W=
(D) WTRRE o
15, Fr s @ wen awh weh ow | 20 TORH(A) G EREH
e & S AT hi WS- | THSF W H HAE |
FeaE o w;(R):aa:T?ﬂﬁsﬁméam
(A) TRHTHURIT S UTsHAT ST | .
(B) Tt g ik S o SR R T SR G
(C) EEHITUETT o Ufsha (A) (A) @ (R) S TRl € |
(D) THTSIHIOT S ek (B) (A)w?%%,(R)a?r?
16. fgm wmeh (& o o fawem) @ © (R)FEIE, (A) T |
aﬁ;ggww%aﬁq;‘? : (D) (A) T (R) A T & |
A) UA.THS. FAeh!
EB)) A 2R, foahie 22. IfYFET(A) : TSN Hided UH
(C) Tt g TWAATE | ’
(D) T PR W(R%;T?wwaﬁw%
RO |
17. Wﬂ?;ﬂiﬁmgﬁwmmﬁﬁ : %W“*@Wﬁi
(A) FOTRREE g (A) (A) T (R) I TAT € |
(B) Wicfiea SEpd (B) (A)TT(R) AT E |
(C) WRfEa §&pa (C) (R)WEE, (A)TTE |
(D) HRRNE Tpha (D) (A)TEE, (R)TedE |
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23.

24.

25.

Assertion (A) : Alkaptonuria is an
example of Inborn errors of

metabolism.

Reason (R) : It is caused due to the
deficiency of enzyme
tyrosinase.

On the basis of the above, choose the
correct answer.

(A) (R)istrue, (A) is false.

(B) (A)istrue, (R) is false.

(C) Both (A) and (R) are false.

(D) Both (A) and (R) are true.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) : Indian rural society
is largely stratified on the basis
of caste system.

Reason(R) : Caste affiliation largely
determines the ranking of an
individual in rural India.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true but
(R) is not a correct explanation
of (A).

(C©) (A)istrue and (R) is false.

(D) (A)is false and (R) is true.

Given below are two statements, one
is labelled as Assertion (A) and the
other as Reason (R).

Assertion (A) : A simple society
lacks in a full scale political
system.

Reason (R) : The members of a
simple society do not take
much interest in politics.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

26.

27.

28.

Given below are two statements.

One is labelled as Assertion (A) and

the other is labelled as Reason (R) :

Reason (A) : Early men took shelter
in caves to protect themselves
from wild animals.

Reason (R) : Their cave habit led to
the emergence of cave art.

Codes :

(A) Both (A) and (R) are true but
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : Hand axe is a multi-
purpose tool fabricated during
the Lower Palaeolithic period.

Reason (R) Stone-hammer
cylinder hammer techniques
are employed for the fabrication
of Lower Palaeolithic tools.

(A) (A)is true, but (R) is false.

(B) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(C©) (A)is false, but (R) is true.

(D) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

Assertion (A) : Bhimbetka in
Madhya Pradesh is a world
heritage site.

Reason (R) Rock-shelters and
caves at Bhimbetka had
preserved prehistoric cultural
layers and several rock
paintings.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) (A)is true, but (R) is false.

(B) (A)is false, but (R) is true.

(C©) Both (A) and (R) are true but,
(R) is not the correct
explanation of (A).

(D) Both (A) and (R) are true and
(R) is the correct explanation
of (A).
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23.

24.

25.

AHFIT (A)  : STEHRIRAT TS
T TSI JfeaT T Th IRV E |
FROT (R) : g A UMY 1 HA

TEAE |
ST & MR W el IR I
(A) (R)WEE, (A) T E |
(B) (A)WEE, (R)TATE |
(C) (A) T (R) I TeAd & |
(D) (A) T (R) S FEIE |

e St et T3 TR € | Uk i At
(A) el 7T & T TR i HROT (R) et
TR
SNTFIT (A)  : TRAT UTHIOT THTST T
e TG T S YO & 3R W
TREg [ T e |
HROT (R) : TH0T R H ST Gegdl
e o HUNHOT i A0k & §
IERIEGETGIR
F
(A) (A) @1 (R) S W&l € a1 (R),
(A) I T FRTE |
(B) (A) TN (R) Tl Wl €, W= (R),
(A) o T& AT TRl & |
(C) (A)TEETM(R) TATE |
(D) (A)TTIa g @ (R) Tel € |

Tt < et 98 T € | Uk T AT
(A) el 7T & T TR i HROT (R) e
e
INTFIT (A)  : TF WA T J a8
YU St T HOTIeA! ol ShHT Bl
g
HROT (R) : Th WA THN & T
TSI § 31fereh ®ie Tl o & |
SURTAREa aeaeat & g | H=farad
TP ATEE ?
F
(A) (A) @ (R) 3H1 TN & @ (R),
(A) T T FRATE |
(B) (A) @ (R) I el €, R (R),
(A) ! e AT TET & |
(C) (A) T, W< (R) A& |
(D) (A) TAd &, W] (R) Tl & |

26. 9T g [ T E | U TR

27.

28.

(A) T S8R 1 FHROT (R) el T E
AFIT (A)  : o7 TS 7 @
STl STHeRT ¥ TR T & fow
TS | T8 T |
HROT (R) : 3h! THIST | T & i
3TET W TTHI-SeAT T ST gaTl |
%l .
(A) (A) T (R) I Wl € @ (R),
(A) T T FRATE |
(B) (A) @1 (R) SHI Wl €, W] (R),
(A) ! & AT TR & |
(C) (A) W& &, W< (R) T T |
(D) (A)7TeTd &, W= (R) WEI T |

ATFPT (A)  : EEPER, U
TTSTOT I i Aty | FAfEd, U a9g-
FIMT AR E |

FHROT (R) : = W= ummor e
AR & a9 § TER-gdEl a9
SO N-8TSl dehlehl ol 3{OTET
& |

(A) (A) TEE, W (R) A& |

(B) (A) T (R) I Wl € 1 (R),

(A) I T FRTE |
(C) (A)7TeTd &, W= (R) W&l T |
(D) (A) @ (R) 3H( Wl &, W (R),
(A) T AT & |

ANTFIT (A) : e WRWT e et
T fove T foRmd e € |

HROT (R) : HHSH & IcA-3TET aem
TR § Ui Teehid o fata=T
ST AT TR Fas aRiEa © |

ST &1 FEIAT & HIH H FEfead §

Y I G HI T & 2

T

(A) (A) TEE, W (R) A& |

(B) (A) TAd &, W] (R) Tl & |

(C) (A) T (R) HI Wl &, o (R),

(A) T AT & |
(D) (A) T4 (R) IHT @&t € @21 (R),
(A) = Tl AT & |
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29. Identify the correct sequence : 33. Indicate the correct sequence :

(A) Zygotene — Leptotene — (A) Clan - Moiety — Phratry —
Diplotene — Pachytene Lineage

(B)  Leptotene —Zygotene — (B) Phratry — Lineage — Clan —
Pachytene — Diplotene Moiety

(C) Pachytene — Zygotene — . .

Leptotene — Diplotene () Moiety — Lineage — Clan —

(D) Diplotene — Pachytene — Phratry
Leptotene — Zygotene (D) Lineage — Clan — Phratry —

Moiety
30. Identify the correct sequence in
order of year of discovery : 34. Identify the correct sequence of the
(A) Homo erectus — Neanderthal Man S . .
. following in ascending order :
— Cro-Magnon — Australopithecus A) Horticul p i

(B) Australopithecus — Neanderthal (A) ortlc:.u ture — .astora 18m =
Man - Cro-Magnon — Homo Foraging — Agriculture
erectus (B) Pastoralism — Foraging —

(C) Neanderthal Man - Cro- Horticulture — Agriculture
Magnon - Homo erectus — (C) Foraging — Horticulture —
Australopithecus Pastoralism — Agriculture

(D) Cro-Magnon — Homo erectus — D) F . p T
Neanderthal Man B (D) Foraging — Pastoralism —
Australopithecus Horticulture — Agriculture

31. Identify the correct sequence : 35. The chronological ordering of

(A) Prosimians - New World Alpine glaciers is
Monkeys - Old  World (A) Mindel — Riss — Wurm — Gunz
Mlonkeys _I‘S‘PCSM Y (B) Gunz — Mindel — Riss — Wurm

(B) Old ~ Wor R - (C) Wurm — Mindel — Gunz — Riss
Prosimians — New World i )

Monkeys — Apes (D) Riss — Gunz — Mindel — Wurm

(C) Apes — New World Monkeys —

Prosimians - OIld World 36. Arrange the following cultural
Monkeys events in descending order in which

(D) Old World Monkeys — New they appear. Use the code given

EVor!d . Monkeys — Apes - below :
rostmians L Cord impressed pottery at
32. Identify the correct sequence in Daojali Hading

ascending orders : 1I. Ploughed field at Kahbangan

(A) Brahmacharya - Grahastha- III.  Flake tool found at Nevasa
Vanaprastha — Sanyas IV. Rock art at Adamgarh

(B) Sanyas - Vanaprastha - Codes :

Grahastha — Brahmacharya (A) LIV, LI

(C) Grahastha — Brahmacharya —

B) I LIV, II
Vanaprastha — Sanyas

(D) Brahmacharya — Grahastha — © LILILIV

Sanyas — Vanaprastha (D) IV, 1L LT
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29.

30.

31.

32,

T ST I e

(A) SN — TR — fewieq —

Teie

(B) TR — STEEA — Yehteld —

fewte

(C) UHRH — SR — TR —

o [a [aVa Lo

(D) TE=RH — UhEH — LM —

SR

MTHR BH o a9 o A § TeTerad

H ¥ TE ST R AT ?

(A) TE WHRE - FEeE™ B -
SR — STRATTR

(B) 3IFEeAfyeery — iRt & —
SHIHT — BIAl TRH

(C) =™ ¥ — Hi=A — g
TR — A

(D) SRETA — B TaRed — It
T — AR

TE SR T TR

(A) W~ — < dee’ & T8 —
‘HTS TS’ o dAY — TTHT

(B) ‘3fivs Tee’ & a5% — MAHI~ —
= goe’ & 8% — TS

(C) T99AY — 9 Toe * dR —
T — “37cs T8’ & o]

(D) “3ice goe’ & 98X — T Toe’ h
AR — TN — HTarga=g

3TRIE! 359 H Wel STI5hH i Tea o :
(A) TR — e — TN — 9T
(B) &= — A — T — SR
(C) TR — SaTad — AR — §=r
(D) T — e — ST — AR

34.

35.

36.

(C) <RI HUEUT — AR — TERIT
-FH
(D) IR FURTT — TR[ERIT — ITAHH

FfeIiad |ihiaes =eTst & 3%

gfed BH % SEREl A W sanEd

it

[ TeNSTel eifeT o SR-siug et
& A

II. SIS % SIATs T 7T E&d

I aman | 9 T 96 SR

IV. 3TSHTE i 9T el
2

(A) LLIV, L1

(B) IL LIV, III

(©) LILIL IV

(D) IV,ILIIL I
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37. Arrange the following prehistoric 40. Match an item in List-I with an item

culture characteristics in terms of in List-II. Use code given below :

;c)helir evolution. Use the code given List — I List — II

elow : . . .

I.  Early civilization — Irrigation — (@) Genetic (i) Darwin-Wallace
Bronze Tools Drift

II.  Semi-sedenterism — Multifaceted (b) Natural (i1) Balakrishnan &
economy — Microliths Selection Sanghvi

M. ?gg;:ldlsm — Hunting — Core (c) Genetic (i) Sewall Wright

IV. Sedenterism — Agriculture — Linkage
Grounded Tools (d) Genetic (iv) Morgan

Codes : Distance

(A) HOLIV,ILI Codes :

B) ILIV,IILI

(C) ILILIV,I @ (b © (@

(D) ILIOLLIV (A) Gv) (i) () @

B) (i) (@) (Gv) (i)
© Gy (@@ GaGv) (iD)

38. Match an item in List-I with an item
in List-1I. Use code given below :

List - I List - IT D) @) @) G @Gv)
(a) Hardy-Weinberg (1) 1953
®) I]SaNWA i) 1908 41. Match an item in List-I with an item
structure ii C T .
List-II. U d below :
(c) Human Genome (i) 1980 1 Last2L, Lse code given below
Project List -1 List - 1I
(d) PCR Technique (iv) 1990 (a) Couple residing (i) Virilocal
Codes : with husband’s residence
A @ () () (@ father’s family
EB)) ((ii/)) ((ilili)) (Eiv)) ((lilil)) (b) Couple residing (ii) Avanculocal
(©) (i) () (v) (i) with husband’s residence
D) Gi) @ @Gv) (ii) maternal uncle’s
family
39. Matgh an item in LisF-I with an item (c) Couple residing (iii) Neolocal
in List-II. Use code given below : with wife’s id
List - 1 List — II hor's fami] residence
(a) Prosimians (i) Marmoset mother’s family
(b) Apes (ii) Lemur (d) Couple setting (iv) Matrilocal
(c) Old World  (ii1) Gorilla up an independent residence
Monkeys family
(d) New World (iv) Baboon Codes :
Monkeys )
Codes : @ ® © @
(@ () (© (@ (A) (1) @) av) (i)
(A) (i) @Gv) (@) (@) B) (i) (i) (i )
B) () Gi) @) ) PR
©) Gv) (i) Gi) @) (©) @y av) @) @)
D) @ ai) @G (v) D) () @ av) (i)
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37.

38.

39.

e ¥ fretetan
AT 3T T 3 TR
e i

I omfus | — s -+
3SR

I oT-E R & —  Sgafard
STeleeRe — Geu Ghashen

. WHEERH — 3REE — SIS TSR

IV. 39T & — F — e fomd
TT 3SR

F:

A HOLIv,IL1T (B) ILIV,ILI

(C) NLILIV,I (D) ILIIL]I, IV

et — 16 <) 78 HeT 1 g — [ | &t T
TST & A1 Ao | A9 53 T e
TN HITSTT

-1 T - 11

(a) BTSN foant et (i) 1953

(b) TAL =T (i) 1908

(c) TgHA ST (iii) 1980
PIEET

(d) I IR aqF®  (iv) 1990

Fe
(@ () (© (@

(A) (1) (@) av) (i)

B) @Gv) ai) 1) (i)

© @) @ av) (1)

D) () @ av) (i)

et — 19 < 778 W T Her= g — [T
T WR W RN | A T T e
TRINT SIS

T -1 T - 11
(a) e () ARHANE
(b) TS (i) @R

(c) ‘Ao des’ & (iii) MRem

LY
(d) g HII (iv) T
P :

@ ® © @
(A) (i) Gv) () (i)
(B) (i) (i) Gv) @)
©) G(v) (i) (i) @)
(D) () (@il) @) @v)
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40. = — 19 3 7E WY A e g - [0 H

41.

3 T TR 9 W | e TS T % #w
T I :

TqEr -1 et - 11

(a) FHfew () SreA-ged
fgwe

(b) =R (i) STAHDE T
IREEMET el

(c) PRl (iil) HaeT e
GEx|

(d) FRfes (iv) \@FE
feww

E &

@ ® © @
(A) Gv) @) @G) (@)
(B) (i) (1) (@v) (i)
© G @ @Gv) (i)
D) @ i) @) (1v)
Tt — [ H SF 77 TR o1 oo gt — [

3 TTE TET W FC | A 5 T e
TN IS

TqEr -1 T - 11
(a) Sufd, ol fuar (i) fafetieer
% IRER & 91 ST
AT HATE |

(b) Zufd, 9fd F AT (ii) UATFHOIRA
% UNER & T A
TATE

(c) ufd, Ul W (iii) TR

ol & IRaR & 3T
I TAE |

(d) A e W (iv) Beieher
LER=RERCICIE 3
I HTLT R & |

<

(@ () () (@
A @O > (@Gv) (ib)
(B) (i) @) Gv) (1)
€ Gy @v) (1) ()
D) aG) @) >Gv) (iD)



42,

43.

Match an item in List-I with an item
in List-II. Use codes given below :

List-1 List - 11
(a) Generalised (i) To get some
Reciprocity goods or

services without
any intention of
returning.

(b) Balanced (i1) When goods

Reciprocity and services are
given to
another without
any apparent
expectation of
reciprocity.

(c) Redistribution (iii) Explicit and
short term in
terms in its
expectation of
return.

(d) Negative (iv) Accumulation

Reciprocity of goods or
labour by
particular
person or in a
particular place
for the purpose
of subsequent
distribution.

Codes :

@ () (© (@

(A) (i) G) @Gv) @)

B) () @) @Gv) @)

© ) Gv) @) @)

D) @) @) (av) (i)

Match an item in List-I with an item

in List-II. Use codes given below :

List -1 List - 1I

(a) Ralph Linton (i) Patterns of
culture

(b) Talcott (i1) Cultural

Parsons Materialism

(c) Ruth Benedict (iii) Systems
Approach

(d) Marvin Harris (iv) Status and
Role

Codes :

@ ® © @
A) @) @v) @O (D)
B) @Gv) (i) @) (D)
©) ) G@Gv) @ (i)
O @ G Gv) (G
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44. This

45.

consists of two lists of
statements, terms of symbols and the
candidate has to match an item in
one list with an item in the other :

List -1 List - II
(Lithic (Lithic Tools)
Technology)
(a) Block-on-block (i) Lanceolate
technique handaxe
(b) Grinding and (i1) Chopper
polished
technique
(c) Pressure (iii) Celt
Technique
(d) Cylinder (iv) Buria
hammer
Technique
Codes :

(@ () () (@
A) ) (@) (i) @Qv)
(B) @v) @) () (@)
© @O @) @) @v)
D) G @) Gv) (@)

This consists of two lists of
statement, terms or symbols and the
candidate has to match an item in
one list with an item in the other :

List -1 List — 11
(Name of the (Name of the
site) excavator)
(a) Langhnaj (i) Aiyappan, A.
(b) Bagor (i1) Joshi, R.V.

(c) Adamgarh (iii) Misra, V.N.
(d) Teri-sites  (iv) Sankalia, H.D.
Codes :
@ ® © @
(A) (i) @Gv) (1) (@D
B) Gv) (i) @G) (@)
© @ a) (@v) (ii)
(D) G @ > @[Qv)



42,

43.

At — 19 < 772 7 ol oer= g — [T

<t Mg Wl W ST | A KU TE e

T I
g -1 g - 11

(a) wmﬁgﬁ (i) ITF T& FA
T ¥ F T A
HaTt ure AT |

(i) S fdr 3= Ao
H TE AT Had
for  fordt  woged
3TURTT AT ERAT 6
TS |

(iii) S & a9 U
e |

(iv) 9% H faRor &
I 9 e
FAfF-faes gRr
ot T o W
TS qAT 5T I
TGN BT |

(b) Hfera
ST

(OREEL

(d) THRHF

2
@ M © @
(A) (i) G 3Gv) (@
(B) Gi) (i) Gv) (@)
(C) Giy (v) @il) (@)
(D) (i) () @Gv) (i)
e — [ | &1 7€ Al A et gt — [T H
1 TS He Q@ i | He 5 T %
SYIT iU

gEr-1 e -1I
(a) o fote (i) U™ 3f®
hedl
(b) THC UG (i) oA
Tfefafass
(c) TF sHTeH (i) Toee=y e
(d) wfem B (iv) ?:q g

2

(@ () () (@
(A) () @v) @) @)
B) @Gv) (i) @) i)
© ) @Gv) @) (i)
D) @ ai) av) (i)
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44. I8! SEIALIRT T Uikl st &1 gedt &t

45.

TS & TqAT 7o BT Ugell gl i Uh-Ueh
HE 1 GEL Gl Th-Uh 78 e

g
-1 T -11
(TN ERTER) (AT 3TR)
(a) FEeREA Il (i) WemHR
[ASEEIN
(b) TTEfeT @ (i) Tremr
TITATINT Feheiieh
(c) TaTe AhTR (iii) ¥ (emfeH
EGGED)
(d) STFTRR BT (iv) Schivih
KETica
E
(@ () (© (@
A) () @) (@ii) (iv)
B) (v) (i) i) @)
© @@ G (i) (v)
D) () (i) Gv) @)

TRT STeRTeT, IRT 7T ekl bt &1 gferdt &t

TE € TqAT 3T T TS Gl TH-TH

;‘q’ =1 AR el I TH-Uh A3 fer
g -1 g -1

(TS ohT AH) (3TGH AT AM)

(a) IS (i) 39w, T

(b) MR (i) STeM, STR.A.

(c) ACHTE (iii) Taem, St

(d) WFTA  (iv) Tich(owaT, TS,

2

(@ () () (@
(A) () @Gv) @ (3
B) Gv) @) () (@)
© O @) Gv) (i)
D) Gy (@) (i) @)



Read the following text and choose/pick
the correct answer in each of the following
questions (46 — 50) :

In addition to projects aimed at
economic development, increasing
numbers of countries in Africa, Asia, and
Latin America are infringing on
indigenous lands to set up national parks
and wildlife reserves. Ecotourism has
created great demand for these areas
worldwide. Approximately 12 percent of
the earth’s landmass currently has been
set aside as conservation protected areas.
An unlikely coalition has formed between
government agencies and conservation
organizations that often oppose the
people’s attempts to secure the resources
that they and their ancestors have
depended upon for generations.

In an international meeting of the
World Parks Congress, held in South Africa
in 2003, representatives of indigenous
groups issued an appeal protesting their
“dispossession and  resettlement, the
violation of rights, the displacement of
peoples, the loss of sacred sites, and the
slow but continuous loss of cultures, as well
as impoverishment. First we were
dispossessed in the name of kings and
emperors, later in the name of State
development and now in the name of
conservation.” Their position brings them
into conflict with conservation groups who
favour preserving “wilderness areas” kept
“primitive and natural,” that is, uninhabited.

Although  firm  statistics  are
unavailable, some estimates suggest that
indigenous people actually inhabit 85
percent of reserved and protected lands in
Latin America and some 6,00,000 “tribal
people” living in India have been forced to
relocate in order to establish protected
areas.

However, some countries are
attempting to reconcile the needs of
indigenous people and the desire to
conserve natural resources. For example,
the Peruvian government has established

what it calls “communal reserves” to be
managed jointly by indigenous
communities and conservation agencies.
Indigenous people maintain legal title to the
land and are guaranteed protection against
encroachment by loggers, miners, and
settlers. However, Government agencies
also monitor activities of indigenous people
to ensure that their land use does not
conflict with the goals of “biodiversity
conservation.”

46. Which one of the following is not
correct ?
Indigenous groups were
dispossessed in the name of
(A) Kings and emperors
(B) State development
(C) Conservation
(D) Corporate interest

47. Which of the following is/are the
salient feature(s) of communal
reserve ?

(A) Joint management

(B) Bio-diversity conservation

(C) Protection against encroachment
(D) All the above

48. National Parks and
Reserves are infringing into
(A) Coastal lands
(B) Urban lands
(C) Indigenous lands
(D) Hill tracts

Wildlife

49. Which one of the following was not
an issue raised by indigenous groups
in World Parks Congress ?

(A) Violation of rights
(B) Loss of sacred sites
(C) Profit sharing

(D) Loss of culture

50. What are the estimated number of
tribal people in India who have been
forced to relocate in order to
establish protected areas ?

(A) Two lakhs
(B) Four lakhs
(C) Six lakhs

(D) Eight lakhs
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et fST T TS W ¢ T ek UY o Hel 3T
T (e G 46-50)

MMeeh fashr@ 1 e T@H ATl
RS o SATAeR 3ThIeRT, TIRTET qeT eife
IR | Sedl W& W S, AL TR a9
TS % fole omRferd ®= & Fmior &g
geAfantaat i gff @ efaEEer wROw@ §
(T, 2004) | ‘Tehighen’ = I foreg & v
&1 o TeTu faretmer o Usr At € | Wi, Rt 6
qATYUE F AT 12 UiaeId 9N ohl TIEToT
ART &7 % ®Y G U@ T € | WER
TS q9T W § 5 WSl & S Uh
TG Tesed & g &, S A 5 S
TTEAT S TG0 @A & T N GgeT o)y
FAT & T W I A FAT 3k GaT qigAr §
AR

T3 3TRIHT H T 2003 H I o8
UTeh UG I Tk ST 9% § A ardl-
TET & Uit 3 SSget, JHed, TR o
o, A o ToreToe, i T o &It aem
TRt o AR foeidienoT o arg-are 3REor
% fovg UH il o IR T | e &H
e SR WHE & AW W S5Eel T T,
TS | T o fThT o A W AR 279 TIET0T &
TH W | 37! RAfT 3% WA F T[S TRl 5
g G | T W@ E, ST SR S
HCSMMCHGNA T WRIASF, A A
T H TETER & |
ST ¥ TE UAT Foidl § foh oifed SR §
TASTGAT i STERN el | SR JumT &
T 85% | § Famg widt € a1 9Ra |
TRIET & T T & foIT SIS 6,00,000
MTEaTaat st = T % forw faasr == fear
TE |

STETAHATST TAT THieh FATEAT & TIEI0T hi
TTST o S G (o3 & folu I W w T |
TEOREGET T& H WHER 4 “TIREARE

T ® 9 GoAaTdl GHRTET T4 10T TSt

FRT fohaT SO | ST & SR getentadt o
Wil qdT Mcanaal gRI TR & foeg
3% MRS S ST & | TR o, TR wSiraat off
TeAHanteat sl Miafafeat w) a8 gHfved w
% Tt TR Tt € o 3ok 510 | o1 39T
“SefaTaed-TReTT % foeg T &l |

46. T=ferfiEa & @ S A TR g 2
oAt s % AW W ATEA
ERIRICIN
(A) TSI o4 FHmer
(B) TT & faemg
(C) HeTor
(D) HURe f&a

47. RIS ARTeTd & f W foman(d)
FAffea A S Fe /8 2
(A) TG wEE
(B) Sia-fafaear gemor
(C) AThHOT o forsag GRetm
(D) e

48. TSF U A« o e IRMd &
foras erfasrar s wWE ?
(A) THSHRME g1
(B) el g
(C) W= i g
(D) YIdIg T
49. frefcfiga o 9 fF9 g2 I gorard-aget
TR IS UTeh ShiU § 7T ST T 41 2
(A) ATUHRT FT SeiaT
(B) e Tl ot etfd
(C) HATH H QERRT
(D) A 1 A e

50. XA H 3 SMGadl sl S S
T ¢ T STRIRT &4l ohl T i &
foTu foreentud &= o T smer g et 2
(A) @

(B) IR A
O B9
(D) BAE
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